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QUESTION 1

Refer to the screen capture below: 

Based on the Enforcement Policy configuration shown in the capture, what Enforcement Profile will an employee
connecting an iOS device to the network for the first time receive using EAP- PEAP? 

A. Deny Access Profile 

B. Onboard Post-Provisioning - Aruba 

C. Onboard Pre-Provisioning Aruba 

D. Cannot be determined 

E. Onboard Device Repository 

Correct Answer: C 

 

QUESTION 2

The screenshot here from the Event Viewer in ClearPass shows an error when a user does an EAP-TLS authentication
to ClearPass through an Aruba Controller\\'s Wireless Network. 
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What is the cause of this error? 

A. The client has sent an incorrect shared secret for the 802.1X authentication. 

B. The controller has sent an incorrect shared secret for the RADIUS authentication. 

C. The client\\'s shared secret used during the certificate exchange is incorrect. 

D. The controller\\'s shared secret used during the certificate exchange is incorrect. 

E. The NAS source interface IP is incorrect. 

Correct Answer: B 

 

QUESTION 3

Which of the following statements is NOT true about the configuration of Active Directory (AD) as an External
Authentication Server in Clearpass? 

A. Clearpass should join the AD domain when PEAP and MSCHAPv2 are used as the authentication type. 

B. The bind DN for an AD can be in the administrator@domain format. 

C. Clearpass cannot be a member of more than one AD domain. 
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D. The list of attributes fetched from the AD can be customized. 

E. Clearpass nodes in a cluster can join different AD domains. 

Correct Answer: C 

 

QUESTION 4

If a client\\'s authentication is failing and there are no entries in the Clearpass\\'s Access Tracker, which of the following
is a possible reason for the authentication failure? 

A. The client used a wrong password. 

B. The user is not found in the database. 

C. The shared secret between Network Access Device and Clearpass does not match. 

D. The user account has expired. 

E. The user\\'s certificate is invalid. 

Correct Answer: C 

 

QUESTION 5

Refer to the screenshot below: 
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Which of the following statements is true regarding the above configuration for network settings? (Choose 2) 

A. Onboarded devices will connect to Employee_Secure SSID after provisioning. 

B. Onboarded devices will connect to secure_emp SSID after provisioning. 

C. Users will connect to Employee_Secure SSID for provisioning their devices. 

D. Users must enter a Pre-shared key to connect to the network. 

E. Users will do 802.1X authentication when connecting to the SSID. 

Correct Answer: BE 

 

QUESTION 6

Which of the following CLI commands is used to upgrade the image of a ClearPass server? 

A. Upgrade image 

B. System upgrade 

C. Upgrade software 

D. Reboot 
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E. System update 

Correct Answer: B 

 

QUESTION 7

Refer to the screenshot below: Based on the above configuration, which of the following statements is true? 

A. ClearPass is configured as a Root CA. 

B. ClearPass is configured as the Intermediate CA. 

C. ClearPass has an expired server certificate. 

D. The arubatraining-REMOTELABSERVER-CA will issue client certificates during Onboarding. 

E. This is not a valid trust chain since the arubatraining-REMOTELABSERVER-CA has a self- signed certificate. 

Correct Answer: B 

 

QUESTION 8

Which of the following ways are used by Clearpass to assign roles to the client? (Choose 2) 

A. Through a role mapping policy. 

B. Roles can be derived from the Aruba Network Access Device. 

C. From the attributes configured in Active Directory. 

D. From the attributes configured in a Network Access Device. 
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E. From the server derivation rule in the Aruba Controller server group for the client. 

Correct Answer: AC 

 

QUESTION 9

Refer to the screen capture below: 

What does the Cache Timeout Value refer to? 

A. The amount of time the Policy Manager caches the user credentials stored in the Active Directory. 

B. The amount of time the Policy Manager caches the user attributes fetched from Active Directory. 

C. The amount of time the Policy Manager waits for a response from the Active Directory before sending a timeout
message to the Network Access Device. 

D. The amount of time the Policy Manager waits for a response from the Active Directory before checking the backup
authentication source. 

ACCP-V6.2 PDF Dumps | ACCP-V6.2 Practice Test | ACCP-V6.2 Braindumps                              7 / 11

https://www.pass4itsure.com/accp-v6-2.html
https://www.pass4itsure.com/accp-v6-2.html
https://www.pass4itsure.com/accp-v6-2.html


https://www.pass4itsure.com/accp-v6-2.html
2024 Latest pass4itsure ACCP-V6.2 PDF and VCE dumps Download

E. The amount of time the Policy Manager caches the user\\'s client certificate. 

Correct Answer: B 

 

QUESTION 10

Shown here is a AAA profile in the Aruba Controller. 

According to the configuration shown here, what would we expect to see in the ClearPass Policy Manager? 

A. RADIUS accounting start-stop messages 

B. RADIUS interim accounting messages 

C. RADIUS interim and start-stop messages 

D. No accounting messages will be seen 

E. RADIUS accounting messages will be sent from the Client to the Controller 

Correct Answer: A 

 

QUESTION 11

Refer to the screen capture below: Based on the Enforcement Policy configuration, if a user connects to the network
using an Apple iphone, what Enforcement Profile is applied? 
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A. WIRELESS_CAPTIVE_NETWORK 

B. WIRELESS_HANDHELD_NETWORK 

C. WIRELESS_GUEST_NETWORK 

D. WIRELESS_EMPLOYEE_NETWORK 

E. Deny Access 

Correct Answer: A 

 

QUESTION 12

An employee authenticates using their corporate laptop and runs the dissolvable onguard agent to send a health check
back the Policy Manager. Based on the health of the device a VLAN is assigned to the corporate laptop. 

Which licenses are consumed in this scenario? 

A. 1 Policy Manager license, 1 Onboard License. 

B. 1 Policy Manager license, 1 OnGuard License. 

C. 2 Policy Manager licenses, 1 OnGuard License. 

D. 1 Policy Manager license, 1 Profile License. 

E. 2 Policy Manager licenses, 2 Onguard licenses. 

Correct Answer: B 

 

QUESTION 13

ACCP-V6.2 PDF Dumps | ACCP-V6.2 Practice Test | ACCP-V6.2 Braindumps                              9 / 11

https://www.pass4itsure.com/accp-v6-2.html
https://www.pass4itsure.com/accp-v6-2.html
https://www.pass4itsure.com/accp-v6-2.html


https://www.pass4itsure.com/accp-v6-2.html
2024 Latest pass4itsure ACCP-V6.2 PDF and VCE dumps Download

What is RADIUS CoA used for? 

A. To authenticate users or devices before granting them access to a network. 

B. To force the client to re-authenticate upon roaming to a new Controller. 

C. To apply firewall policies based on authentication credentials. 

D. To validate a host MAC against a white and a black list. 

E. To transmit messages to the NAD/NAS to modify a user\\'s session status. 

Correct Answer: E 

 

QUESTION 14

Refer to the screen capture below: An employee connects a corporate laptop to the network and authenticates for the
first time using EAPTLS. Based on the above Enforcement Policy configuration, what Enforcement Profile will be sent in
this scenario? 

A. Deny Access Profile 

B. Onboard Post-Provisioning - Aruba 

C. Onboard Pre-Provisioning Aruba 

D. Cannot be determined 

E. Onboard Device Repository 

Correct Answer: B 

 

QUESTION 15

Which of the following statements is NOT true about the configuration of a generic LDAP server as an External
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Authentication Server in Clearpass? 

A. The bind DN can be in the administrator@domain format. 

B. The list of attributes fetched from an LDAP server can be customized. 

C. An LDAP Browser can be used to search the Base DN. 

D. Multiple LDAP servers cannot be configured as authentication sources. 

E. Generic LDAP servers can be used as authentication sources. 

Correct Answer: A 
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